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Ramesh Ltd. purchased all the equily shares of Sanjay Ltd. Sanjay Ltd.
suffered a loss of Rs. 16000 in the first year and earned a profit af Rs.
40000 in the second year. Sanjay Ltd. disclosed a dividend of Rs. 20000 in
the second year. If holding company makes a record of all the losses and
profits of the subsidiary company in its books. Pass the necessary journal
entries in its books.
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Note :

[kM N e nl viryikjh 1°u g] ftlg gy djuk viuok; gA
[k.M *c* e yXikjh ¢*u ,o [k.M "I* e nik mikjh ¢c*'u gA [k.M
N dk el igy gy djA

Section 'A', containing 10 very short-answer-type questions, is compulsory.
Section B’ consists of short-answer-type questions and Section 'C' consists of
long-answer-type questions. Section 'A' has to be solved first.

R 1.

R 2.

IR 3.

IR 4.

IR 5.

Section - 'A'

fuEukfdr viry2ikjh ¢c*uk d mikj ,d ;k nk okD;k e nA (Answer
the following very short-answer-type questions in one or two

sentences.) (1x10=10)

3731 9§ 3T FAT FHKI 27

What do you undrstand by share?

3N & BT BT T 3G &7

What is meant by forfeiture of shares?

A & AU WR A U8 fbg Y Bl 87

First payment is made to whom in case of liquidation of company ?
HA & BT § AU BT = 3ef 27

What is the meaning of voluntary liquidation of company?

I T § T I8 He Sfad 8l 87

What is goodwill and when does it arise?
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U 6. UM bl A &R W FAT IR 8?
What is meant by normal rate of return?
TS 7. HFN @ GAFAEOT | FT aRad 8?
What do you understand by reconstruction of a company?
U 8. IGide UHII—14 RIT 87
What is accounting standard-14?
U 9. WED Bl BT T A 87
What do you mean by subsidiary company.

T 10.3R T ey & R sy 8
What do you mean by Non-performing assets (NPA) ?

Section - 'B’

fuEukfdr y% mikjh; ¢c*uk d mikj 150&200 *iCn Bhek e nA(Answer the
following short-answer-type questions with word limit 150-200(5x5=25)

g 1. IR | T AT 2° $HAD T SUAN &7
What is meant by security premium? What are its uses?
OR
FHTAT T TAT A ATAT H AR DI |
Distinguish between call in arrears and call in advance.
U 2. |AUA 3R fRarer #§ oftR Fared |

Distinguish between liquidation and insolvency.

OR
FAGS B T [daR0T A AT T AHSK &7
What do you understand by liquidators statement of account?
T 3. 3 B ARG Fed AT IR Hed A FIT AR 87
What is meant by intrinsic value and market value of shares?
OR
Iy @Y o Rl faRyarg aar 27
What are accounting characterstics of goodwill?
TR 4. UPHIHROT BT 37ef Ud Ieed Herg H s |

Give the meaning and object of Amalgamation.

IR 4.

IR 5.
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The profit of a company (whose capital is divided into 25000 shares of
Rs. 10 each) for the last three years are; Rs. 50000, Rs. 60000, Rs.
40000, the fair investment return is taken at 10% p.a. find out the value

of company's share.

THIHRYN & ol SI@ih R SIRT I@ih AT dh—14 & G fd=gail
BT Ui BIFY |

Describe main features of accounting standard-14 on accounting for
amalgamation .

OR

ol Hr=T ot T oI U 50 ®. @ (40 . &<i) 9000 32N
H fvh 450000 . @1 Yol 3R 90000 . HI b A2 o1, HERTE
ST &. fo1. R U 30 %, @ (25 . <) 40000 (T # fawh
1200000 %. &I YSil 3R 200000 . P Y HAA T g el R b
Afdferae Il H U i AR S gael Al B arell
AT g I QMRS g7 ST f uRw ¥ o) <fl, wAfaferss faran
T |
AfAfer &R aTell Bl B gDt § on ufafteat fg

T THIGRT & gearq fIcal TR B |
Panjab company Ltd. having a capital Rs. 450000 divided into 9000
shares of Rs 50 each (Rs. 40 paid up) and a reserve of Rs. 90000, was
absorbed by the Maharastra Trading Co. Ldt. having a capital of
Rs. 1200000 divided into 40000 shares of Rs. 30 each (Rs. 25 paid up
and areserve of Rs. 200000, on the terms that for every three shares in
the absorbed company, the absorbing company was to give five shares
(Partly paid as the orignal ones)

Give journal entries in the books of absorbing company and prepare
its balance sheets after the amalgamation.
FART HFI T FERID BT I RIT Y 8¢ 5 0T QINI D
farer=T BTy |
What do you understand by holding and subsidiary company? Discuss
its advantages and disadvantages.
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OR OR
fopet <emall | HiARe gARHT are-g 81 Sl 87 e Semall # offaRe gAf™IT afe-g & Sl &7
Under which conditions internal reconstruction is desirable? Under which conditions internal reconstruction is desirable?
U3 5. TGN FIRRAT & f2d Bl THssY | U3 5. TGN FIRRAT & f2d Bl THsTsY |

Explain minority shareholders interest. Explain minority shareholders interest.

OR OR
9% @ fres &1 dferd ured IR | 9% @ fres &1 e ured IRy |

Give an abridged format of Bank Balance sheet. Give an abridged format of Bank Balance sheet.
Section - 'C' Section - 'C'

futukfdr nh? mikjh; ¢*uk di mikj 300&350 “kn Bhek el nA

(Answer the following long-answer-type questions with
word limit 300-350) (8x5=40)

2 1. 3T BT VT B BT ST 87 9T &ROT fby Y 37er ekl R g

futukfdr nh? mikjh; ¢*uk di mikj 300&350 “kin Bhek el nA
(Answer the following long-answer-type questions with
word limit 300-350) (8x5=40)

U2 1. 3R BT BROT Y fbar SIAT 8 T BT Y MY 379 ekl wR g

Fifiic R o e #7 aieli o vor Ul g Pt 2 s wfafedt
IS

How are shares forfeited? Can forfeited shares be reissued at discount?
Give journal entries for forfeiture and reissue of shares.

OR
TR 7€ fo. 5 100 %. 9Tl 10000, 12% Foros oINT by < f&
frfaRad TR T 99— 20 . T W, 30 . 3fded W e
50 . T U4 3ifcd Irar WX | 9T FeoraEl @ ol ides o U o
3R Tenfafdr If¥r U &Y T | 31ed, S & 200 FEOUSHT BT MdeD
o, 7 AT & FHY 37U HRT WR FHT RN BT Y o faam | quR
Are forfics @ 9fzal § mavaed AT ufaftedt BT |

Paper Mart Ltd. issued 10000, 12% debentures of Rs. 100 each which
was payable as follows : Rs. 20 on application, Rs. 30 on allotment and
Rs. 50 on first and final call. The debentures were applied for the money
duly received. Ashok, the applicant of 200 debentures, paid the entire
amount on his holding on allotment. Pass necessary journal entries in the
books of Paper Mart Limited.

P.T.O.

Feifiic b o e 7 aiel o vor Ul g Pt 2 s wfafedt
IS

How are shares forfeited? Can forfeited shares be reissued at discount?
Give journal entries for forfeiture and reissue of shares.

OR
TR 71 fol. 9 100 %. 9Tl 10000, 12% Foros oINT by < f&
frfaRad TR T 99— 20 . AT W, 30 . 3fded WX el
50 . T TG 3ifcd Irar WX | 9T ForaEl & ol 3ides o U o
3R Tenfafdr If¥r U &Y T | 31e®, S & 200 FEOUSHT BT D
o, 7 AT & FHY 37U HRT UR FHT RN BT Y o faam | qur
Are forfics @ afzal § emavaed Ao ufaftedt BT |

Paper Mart Ltd. issued 10000, 12% debentures of Rs. 100 each which
was payable as follows : Rs. 20 on application, Rs. 30 on allotment and
Rs. 50 on first and final call. The debentures were applied for the money
duly received. Ashok, the applicant of 200 debentures, paid the entire
amount on his holding on allotment. Pass necessary journal entries in the
books of Paper Mart Limited.
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U B b GHIO A U G-I GES §e AU Bl A
faferat &1 deru # vl BTy |
What do you understand by liquidation of a company? Describe different
modes of winding up in brief.
OR

=1 <RIl @ 1T A, B ST o1, T 19+ 83T - (31) Rferd oFeR
20000 %. (25000 %. UfcHfadl | UTa Q) (§) YaigdR oFaR 6000
. (F) IR MR 30500 . MR & 252 6. 9 gY |

RS aqel g8 7RIS BT 3% AT 3RIET AR
o1 faaRa @ T IR F 11% TRAME U wA BT ARVBRY T |
fafe=r yEgiliuy y 26000 Uj. wyv ¥ ikiit ¥yi yeqiliui afafer =i
2 O gl Rferd oFeRl & U § | RAR® @1 sifcd fderer @ren
g8 | FRAR® 3 uiRsiffes &1 o1 T ol FHURRT 9 UIe €
7 TR ST T TR & R R of e & o qu <
R & U B |
A, B Company Ltd. went in to liquidation with following liabilities : (a)
secured creditors Rs. 20000 (security realised Rs. 25000) (b) Preferential

creditors Rs. 6000 (c) Unsecured creditors Rs. 30500 liquidation expenses
Rs.252.

Liquidator's remuneration 3% on the amount realised and on

the amound distributed to unsecured creditors. Rs. 26000 were realised
from various assets and this amount does not include those securities which
are with the secured creditors. Prepare liquidators final statement of
account. Liquidators are entitled for remuneration on the amount realised
on all the assets including those which are with the secured creditors.
WA @] AGYRUT HI qUF PHITY 3IR gAD Hedidhd @l fafi=
fafer @1 T AR |

Describe the concept of goodwill and explain the various methods of its
valuation.

OR

TH HH @ o (e 4ol 10 . aTel 25000 3N # fawifoa 7)
ool A9 a9t & forw fA=ifdhd € :— 50000%., 60000%., 40000%. i
M B X 10% Ufay &, AT B 3T Bl HIFd FH1fer |

1

[SI

R 2.

IR 3.
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T A D WEO W AU RIT GHS 87 FAUH bl A
faferar @1 dery # aoiF STy |

What do you understand by liquidation of a company? Describe different
modes of winding up in brief.

OR
=1 <RIl @ 1T A, B ST o1, T 19+ 83T - (31) Rferd oFeR
20000 %. (25000 %. Ufcrfadl | UTa Q) (§) YaigdR oFER 6000

. (9) IR MR 30500 . MR & 252 6. 9 gY |
FeR® 9 g5 I7RINRT BT 3% T IRMET oTaRI
a1 faaRa @1 g AR &1 RIS U R T JATHRI T |
faf1 e affera 98 & 91 gof f&a oFeRi @ U ©
FRAR® 1 3ifcm faaror @rar 99183 | AR 1d+ qTiRsIAe & 941
T Gl FAURTT ¥ U € U= o &7 e 2 R+ o ufengfera
§ wRERr & S qof <R oFERT B TR ¥
A, B Company Ltd. went in to liquidation with following liabilities : (a)
secured creditors Rs. 20000 (security realised Rs. 25000) (b) Preferential

creditors Rs. 6000 (c) Unsecured creditors Rs. 30500 liquidation expenses
Rs.252.

Liquidator's remuneration 3% on the amount realised and on

the amound distributed to unsecured creditors. Rs. 26000 were realised
from various assets and this amount does not include those securities which
are with the secured creditors. Prepare liquidators final statement of
account. Liquidators are entitled for remuneration on the amount realised
on all the assets including those which are with the secured creditors.
A @] AGYROT HI qUF PITY 3IR gAD Hedidhd @l fafi=
faftrlt &1 e BT |

Describe the concept of goodwill and explain the various methods of its
valuation.

OR

TH HH @ o (ROTaT 4ol 10 . dTel 25000 3N # fawifod 7)
fwer A9 a9t & forw fA=ifdhd € :— 50000%., 60000%., 40000%. i
M B X 10% Ufay &, HFAT B 3T Bl HIFd FHIfer |
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